Using T-Accounts to Record Transactions- Extension of Chapter 2

     The book illustrates two approaches to recording transactions in the accounts: a computer spreadsheet and journal entries.  Some instructors prefer that their students use T-accounts instead.  This reading describes the use of T-accounts and illustrates their application using the transactions of Miller Corporation for January discussed in Chapter 2.

DUAL EFFECTS OF TRANSACTIONS ON THE BALANCE SHEET EQUATION
The balance sheet equation maintains the equality between total assets and total liabilities plus shareholders' equity by reporting the effects of each transaction in a dual manner. Any single transaction will have one of the following four effects or some combination of these effects:

1.
It increases both an asset and a liability or shareholders' equity.

2.
It decreases both an asset and a liability or shareholders' equity.

3.
It increases one asset and decreases another asset.

4.
It increases one liability or shareholders' equity and decreases another liability or shareholders' equity.


To understand the dual effects of various transactions on the balance sheet equation, consider the following transactions for Miller Corporation during January:

(1)
On January 1, the firm issues 10,000 shares of $10-par value common stock for $100,000 cash.

(2)
On January 5, it pays $60,000 cash to purchase equipment.

(3)
On January 15, Miller Corporation purchases merchandise inventory costing $15,000 from a supplier on account.

(4)
On January 21, it pays the supplier in (3) $8,000 of the amount due.

(5)
On January 25, the supplier in (3) accepts 700 shares of common stock at par value in settlement of the $7,000 amount still owed.

(6)
On January 31, the firm pays $600 cash for a one-year insurance premium for coverage beginning February 1.

(7)
On January 31, Miller Corporation receives $3,000 from a customer for merchandise to be delivered during February.


Exhibit 1 illustrates the dual effects of these transactions on the balance sheet equation. Note that after each transaction, assets equal liabilities plus shareholders' equity.


Each transaction has two effects-- an outflow and an inflow. For example, the firm issues common stock to shareholders and receives cash. The firm makes a cash expenditure and receives equipment. The firm promises to make a future cash payment to a supplier and receives merchandise inventory. Most transactions and events recorded in the accounting system result from exchanges.  Most of these exchanges involve the firm and some outside party, such as an employee, shareholder, or supplier.  Some exchanges (such as ones for manufactured inventory considered in Chapter 7) occur inside the firm. The accounting records reflect the inflows and outflows arising from these exchanges.

PURPOSE AND USE OF ACCOUNTS

We could prepare a balance sheet for Miller Corporation as of January 31 using the information from the preceding analysis. Total assets are $110,000. To prepare a balance sheet, however, would require tracing each transaction's effects on total assets to ascertain what portion of the $110,000 represents cash, merchandise inventory, and equipment. Likewise, the effects of each transaction on total liabilities and shareholders' equity would require retracing to ascertain which liability and shareholders' equity amounts compose the $110,000 total. Even just a few transactions during the accounting period make this approach to preparing a balance sheet cumbersome.  Most firms have  


EXHIBIT 1


MILLER CORPORATION


Illustration of Dual Effects of Transactions on Balance Sheet Equation





Shareholders’ 
Transaction
Assets
=
Liabilities
+
Equity

(1)
On January 1, Miller Corporation issues 10,000 

shares of $10-par value common stock for 

$100,000 cash (an increase in an asset and a


shareholders’ equity)………………………………………

+
$100,000
=
$        0
+
$100,000


Subtotal………………………………………………………


$100,000 
= 
$        0

+
$100,000

(2)
On January 5, the firm pays $60,000 cash


to purchase equipment (an increase in one

-   60,000


asset and a decrease in another asset)…………………….

+ 
 60,000


Subtotal………………………………………………………..

  $100,000 
= 
$        0
+
$100,000

(3)
On January 15, the firm purchases merchandise



inventory costing $15,000 from a supplier on


account 


(an increase in an asset and a liability)………………

+   15,000

+15,000


Subtotal………………………………………………….


  $115,000
=

$15,000
+
$100,000

(4)
On January 21, the firm pays the supplier in (3)…..

$8,000 of the amount due (a decrease in an


asset and a liability)…………………………………….

-    8,000


- 8,000


Subtotal……………………………………………………

 
 $107,000
=
$  7,000
+
$100,000

(5)
On January 25, the supplier in (3) accepts 700


shares of common stock in settlement of the 


$7,000 still owed (an increase in a shareholders’


equity and a decrease in a liability)…………………….



- 7,000
+
7,000


Subtotal……………………………………………………..

 
 $107,000
=
$      0

$107,000

(6)
On January 31, the firm pays $600 cash for a


one-year insurance premium for coverage


beginning February 1 (an increase in one 

+    
 600




asset and a decrease in another asset). …………………...

-  
   600


Subtotal……………………………………………………..

 
 $107,000
=
$       0 
+
$107,000

(7)
On January 31, the firm receives $3,000 


from a customer for merchandise to be


delivered during February (an increase in


an asset and a liability)……………………………………..

+    3,000

+    3,000

Total—January 31………………………………………………….
  $110,000
=
$   3,000
+
$107,000

thousands of transactions during the accounting period, necessitating a more prac​ti​cal approach to accumulating amounts for the balance sheet. To keep track of the changes that take place in each balance sheet item, the accounting system uses a device called an account.
Requirement for an Account A balance sheet item can only increase or decrease or remain the same during a period of time. Thus, an account must provide for accumulating the increases and decreases (if any) that occur during the period for a single balance sheet item. By convention, the accounts separate the increases from the decreases.  The total additions during the period increase the balance carried forward from the previous statement, the total subtractions decrease it, and the result is the new balance for the current balance sheet.

Form of an Account The account may take many possible forms, and accounting practice commonly uses several. Perhaps the most useful form of the account for textbooks, problems, and examinations is the T-account. Actual practice does not use this form of the account, except perhaps for memoranda or preliminary analyses. However, the T-account satisfies the requirement of an account and is easy to use. As the name indicates, the T-account looks like the letter T, with a horizontal line bisected by a vertical line. The name or title of the account appears on the horizontal line. One side of the space formed by the vertical line records increases in the item and the other side records decreases. Dates and other information can appear as well.







Account Title 
T-Account Form

Placement of Increases and Decreases in the Account Given the two-sided account, we must choose the side used to record increases and the side for decreases. Long-standing custom follows three rules:

1.
Accounting places increases in assets on the left side and decreases in assets on the right side.

2.
Accounting places increases in liabilities on the right side and decreases in liabilities on the left side.

3.
Accounting places increases in shareholders' equity on the right side and decreases in shareholders' equity on the left side.


This custom reflects the fact that in the balance sheet equation, assets appear to the left of the equal sign and liabilities and shareholders' equity appear to the right. Following this format, asset balances should appear on the left side of accounts; liability and shareholders' equity balances should appear on the right. Asset balances will appear on the left only if the left side of the account records asset increases. Similarly, liability and shareholders' equity balances appear on the right only if accounting records liability and shareholders' equity increases on the right side of accounts. When the accountant properly analyzes each transaction into its dual effects on the accounting equation and follows the three rules for recording the transaction, every transaction results in recording equal amounts in entries on the left-hand and the right-hand sides of the various accounts.  This equality of the amounts recorded on the left and right for any single transaction provides a powerful check for the accuracy of record keeping.  When you analyze a transaction and get unequal amounts for left and right amounts, you will know you have erred.

Debit and Credit Accountants use two convenient abbreviations: debit (Dr.) and credit (Cr.). Debit, used as a verb, means "record an entry on the left side of an account" and, used as a noun or adjective, means "an entry on the left side of an account." Credit, used as a verb, means "record an entry on the right side of an account" and, used as a noun or adjective, means "an entry on the right side of an account.". Often, however, accountants use the word charge instead of debit, both as a noun and as a verb. In terms of balance sheet categories, a debit or charge indicates (1) an increase in an asset, (2) a decrease in a liability, or (3) a decrease in a shareholders" equity item. A credit indicates (1) a decrease in an asset, (2) an increase in a liability, or (3) an increase in a shareholders' equity item.


To maintain the equality of the balance sheet equation, the accountant must be sure that the amounts debited to various accounts for each transaction equal the amounts credited to various accounts. As a result, the sum of balances in accounts with debit balances at the end of each period must equal the sum of balances in accounts with credit balances.

Summary of Account Terminology and Procedure The following T-accounts summarize the conventional use of the account form and the terms debit and credit. Customarily, a checkmark in an account indicates a balance.
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√
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Decreases
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-

-
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    Dr.
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√
Ending
Ending    √
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Any Shareholders’ Equity Account




Beginning √


Balance


   



Decreases
Increases







-

+




    



Dr.
    Cr.

      Ending    √



Balance

REFLECTING THE DUAL EFFECTS OF TRANSACTIONS IN THE ACCOUNTS
We can now see how the dual effects of transactions change the accounts. We use three separate T-accounts: one for assets, one for liabilities, and one for shareholders' equity. The dual effects of the transactions of Miller Corporation for January appear in the T-accounts shown in Exhibit 2.


The amount entered on the left side of (or debited to) the accounts for each transaction equals the amount entered on the right side of (or credited to) the accounts. Recording equal amounts of debits and credits for each transaction ensures that the balance sheet equation will always balance. At the end of January, the assets account has a debit balance of $110,000. The balances in the liabilities and shareholders' equity accounts sum to a credit balance of $110,000.


To provide a direct computation of the amount of each asset, liability, and shareholders' equity item requires a separate account for each balance sheet item, rather than one for each of the three broad categories. The recording procedure is the same, except that it uses specific asset or equity accounts, not a single account.


Exhibit 3 records the transactions of Miller Corporation for January using separate T-accounts for each balance sheet item. The numbers in parentheses refer to the seven transactions during January for Miller Corporation. Most accountants would use the checkmark to indicate a balance, as in Exhibit 2, rather than spell out the word balance, as we do in Exhibit 3.


The total assets of Miller Corporation of $110,000 as of January 31 comprise $34,400 in cash, $15,000 in merchandise inventory, $600 in prepaid insurance (advances to the insurance provider), and $60,000 in equipment. Total liabilities plus shareholders' equity of $110,000 comprise $3,000 of advances from customers and $107,000 of common stock.


One can prepare the balance sheet using the amounts shown as balances in the T-accounts. The balance sheet of Miller Corporation after the seven transactions of January appears in Exhibit 4.

Exhibit 2

MILLER CORPORATION


Summary T-Accounts Showing Transactions during January






      Assets
  =

Liabilities
+
Shareholders’ Equity

Increases
Decreases
Decreases
Increases
Decreases
Increases


(Dr.)
(Cr.)
(Dr.)
(Cr.)
(Dr.)
(Cr.)

(1) Issue common stock


for cash

100,000




100,000

(2) Purchase equipment with

cash

60,000
60,000

(3) Purchase merchandise


on account

15,000


15,000

(4) Pay cash to


supplier in (3)


8,000
8,000

(5) Issue common stock


to supplier in (3)



7,000


7,000

(6) Pay insurance premium


 in advance

600
600

(7) Receive cash from customer


 in advance

3,000



 3,000





Balance

√ 110,000


   3,000 √

107,000 √


Exhibit 3

MILLER CORPORATION


Individual T-Accounts Showing Transactions


         Cash (Asset)


Accounts Payable (Liability)




Increases
Decreases

Decreases
Increases


 
   (Dr.)
  (Cr.)
  
   (Dr.)
  (Cr.)


(1)
100,000
60,000
(2)
(4)
8,000
15,000
(3)

(7)
3,000
8,000
(4)

(5)
7,000





600
(6)






    




0
Balance

Balance
34,400







Merchandise Inventory (Asset)


Advance from Customer (Liability)




Increases
Decreases

Decreases
Increases


  
   (Dr.)
  (Cr.)
 
    (Dr.)
  (Cr.)


(4)
15,000




3,000
(7)
Balance
15,000




3,000
Balance







Prepaid Insurance (Asset)

Common Stock (Shareholders’ Equity)




Increases
Decreases

Decreases
Increases



   (Dr.)
  (Cr.)

    (Dr.)
  (Cr.)


(6)
600




100,000
(1)










7,000
(5)




Balance
600













107,000
Balance


Equipment (Asset)




Increases
Decreases




   (Dr.)
  (Cr.)



(2)
60,000





Balance
60,000




Exhibit 4


MILLER CORPORATION


Balance Sheet, January 31

ASSETS

Current Assets

Cash

$  34,400

Merchandise Inventory

15,000

Prepaid Insurance


600

Total Current Assets

$  50,000

Property, Plant, and Equipment

Equipment


60,000

Total Assets

$110,000
LIABILITIES AND SHAREHOLDERS' EQUITY

Current Liabilities

Advance from Customer

$    3,000

Shareholders’ Equity

Common Stock


107,000

Total Liabilities and Shareholders’ Equity

$110,000
T-ACCOUNTS 2.1. Preparation of T-accounts and balance sheet.  Moulton Corporation engaged in the following seven transactions during December, Year 12, in preparation of the opening for business on January 1, Year 13.

(1) Issued for cash 80,000 shares of $10-par value at par.

(2) Acquired for cash land costing $50,000 and a building costing $450,000.  The building has an expected useful life of 25 years beginning on January 1, Year 13.

(3) Purchased merchandise inventory costing $280,000 on account from various suppliers.
(4) Paid for inventory purchased in (3) with an original invoice price of $250,000 in time to take advantage of a 2-percent discount for prompt payment.  The firm treats discounts taken as a reduction in the cost of inventories.  The firm has not yet paid for the remaining $30,000 of purchases on account.

(5) Paid $12,000 for a one-year insurance policy on the land and building.  The insurance coverage begins January 1.

(6) Borrowed $300,000 from a bank on December 31, Year 12.  The loan bears interest at an annual rate of 8 percent and is due in five years.  The interest is payable on January 1 of each year, beginning January 1, Year 14, and the $300,000 amount borrowed is due on December 31, Year 17.  
(7) Acquired equipment on December 31 costing $80,000 and signed a 6-percent note payable to the supplier.  The note is due on June 30, Year 13.  The equipment has an estimated useful life of 5 years.
a.  Prepare T-accounts and enter the seven transactions.

b.  Prepare a balance sheet for Moulton Corporation as of December 31.


Note: Web problem T-ACCOUNTS 3.1 extends the problem to income transactions for January.

T-ACCOUNTS 2.2. Preparation of T-accounts and balance sheet. Veronica Regaldo creates a new business firm in Mexico on January 2, Year 8, to operate a retail store. Transactions of Regaldo Department Stores during January in preparation for opening its first retail store in February appear below:

(1)January 2: Receives Ps500,000 from Veronica Regaldo for all of the common stock of Regaldo Department Stores. The stock has no par or stated value.

(2)January 5: Pays another firm Ps20,000 for a patent and pays the Mexican government Ps4,000 to register the patent.

(3)January 10: Orders merchandise from various suppliers at a cost of Ps200,000. See transactions (5), (6), and (7) below for later information regarding these merchandise orders.

(4)January 15: Signs a lease to rent land and a building for Ps30,000 a month. The rental period begins February 1. Regaldo pays Ps60,000 for the first two months’ rent in advance.

(5)January 20: Receives the merchandise ordered on January 10. Regaldo delays payment for the merchandise until it receives an invoice from the supplier—see transaction (7) below.

(6)January 21: Discovers that merchandise costing Ps8,000 is defective and returns the items to the supplier.

(7)January 25: Receives invoices for Ps160,000 of the merchandise received on January 20. After subtracting an allowed discount of 2 percent of the invoice for paying promptly, Regaldo pays the suppliers the amount due of Ps156,800 (.98 x Ps160,000). The firm treats cash discounts taken as a reduction in the acquisition cost of the merchandise.

(8)January 30: Obtains fire and liability insurance coverage from Windwards Islands Insurance Company for the period beginning February 1, Year 8. It pays the one-year insurance premium of Ps12,000.


a.
Prepare T-accounts and enter the eight transactions. 

b. Prepare a balance sheet for Regaldo Department Stores on January 31, Year 8.
Note: Web Problem T-ACCOUNTS 3.2 extends this problem to income transactions for February.

T-ACCOUNTS 2.3. Preparation of T-accounts and balance sheet. Patterson Corporation begins operations on January 1, Year 13. See the assumptions given at the end of the list. The firm engages in the following transactions during January:

 (1)
Issues 15,000 shares of $10-par value common stock for $210,000 in cash.

 (2)
Issues 28,000 shares of common stock in exchange for land, building, and equipment. The land appears at $80,000, the building at $220,000, and the equipment at $92,000 on the balance sheet.

 (3)
Issues 2,000 shares of common stock to another firm to acquire a patent.

 (4)
Acquires merchandise inventories with a list price of $75,000 on account from suppliers.

 (5)
Acquires equipment with a list price of $6,000. It deducts a $600 discount and pays the net amount in cash. The firm treats cash discounts as a reduction in the acquisition cost of equipment.

 (6)
Pays freight charges of $350 for delivery of the equipment in (5).

 (7)
Discovers that merchandise inventories with a list price of $800 are defective and returns them to the supplier for full credit. The merchandise inventories had been purchased on account—see (4)—and no payment had been made as of the time that the goods were returned.

 (8)
Signs a contract for the rental of a fleet of automobiles beginning February 1. Pays the rental for February of $1,400 in advance.

 (9)
Pays invoices for merchandise inventories purchased in (4) with an original list price of $60,000, after deducting a discount of 3 percent for prompt payment. The firm treats cash discounts as a reduction in the acquisition cost of merchandise inventories.

(10)Obtains fire and liability insurance coverage from Southwest Insurance Company. The two-year policy, beginning February 1, carries a $2,400 premium that has not yet been paid.

(11)
Signs a contract with a customer for $20,000 of merchandise that Patterson plans to deliver in the future. The customer advances $4,500 toward the contract price.

(12)
Acquires a warehouse costing $60,000 on January 31. The firm makes a down payment of $7,000 and assumes a 20-year, 6-percent mortgage for the balance.  Interest is payable on January 31 each year.

(13)
Discovers that merchandise inventories with an original list price of $1,500 are defective and returns them to the supplier. This inventory was paid for in (9). The returned merchandise inventories are the only items purchased from this particular supplier during January. A cash refund has not yet been received from the supplier.

(14)
On January 31, the firm purchases 6,000 shares of $10-par value common stock of the General Cereal Corporation for $95,000. This purchase is a short-term use of excess cash. The shares of General Cereal Corporation trade on the New York Stock Exchange.


The following assumptions will help you resolve certain accounting uncertainties: (i) transactions (2) and (3) occur on the same day as transaction (1); and (ii) the invoices paid in (9) are the only purchases for which suppliers made discounts available to the purchaser.

a. Prepare T-accounts and enter the 14 transactions. 

b. Prepare a balance sheet as of January 31, Year 13.

Note: Web problem T-ACCOUNTS 3.3 extends this problem to income transactions for February.

T-ACCOUNTS 2.4. Preparation of T-accounts and balance sheet. Whitley Products Corporation begins operations on April 1. The firm engages in the following transactions during April:

 (1)
Issues 25,000 shares of $10-par value common stock for $15 per share in cash.

 (2)
Acquires land costing $25,000 and a building costing $275,000 by paying $50,000 in cash and signing a note payable to a local bank for the remainder of the purchase price. The note bears interest at 8 percent per year and matures in three years.

 (3)
Acquires equipment costing $125,000 for cash.

 (4)
Pays $2,800 to transport the equipment to the office of Whitley Products Corporation.

 (5)
Pays $3,200 to install and test the equipment. 

 (6)
Pays the one-year premium of $12,000 for property and liability insurance on the building and equipment for coverage beginning May 1.

 (7)
Agrees to manufacture custom order merchandise for a particular customer beginning in May at a selling price of $15,000. The customer advances $1,500 of the selling price with the order.

 (8)
Orders raw materials costing $60,000 from various suppliers.

 (9)
Receives notification from the suppliers that the raw materials ordered in transaction (8) were shipped. The merchandise belongs to the suppliers until received by Whitley Products Corporation.

(10)Receives the raw materials shipped in transaction (9).
(11)
Discovers that raw materials costing $8,000 are damaged and returned to the supplier. The firm has not yet paid the supplier.

(12)
Pays the raw materials suppliers in transactions (8), (9), (10), and (11) the amounts due, after subtracting 2 percent for prompt payment. The firm treats cash discounts as a reduction in the acquisition cost of the raw materials.


a.
Prepare T-accounts and enter the twelve transactions.

b.
Prepare a balance sheet for Whitley Products Corporation as of April 30.

